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(a) Only one mode of transport
(b) Two different mode of transport.

SEQUENCE AND SERIES

2016 OCT/NOV
1. The first three terms of a geometric progressionarex+ 1, x—3 and x— 1.
Find;
(a) The value of x
(b) The first term

(c) The sum to infinity.

2017 GCE

2. The first three terms of a geometric progression are 6 tn’@ 1—% 15+ n.

Find; e
go
(a) The value of n Ote

(b) The common ra
(c) The s ‘W‘ “ 6 terré o) t@s%ence
P(e P ag 2017 INTERNAL

3. For the geometric progression 20, 5, 1 .,find

(a) The common ratio,
(b) The " term,
(c) The sum of the first 8 terms.
2018 GCE

4. In a geometric progression, the third term is % and the fourth term is 22—7

Find ;
(a) The first term and the common ratio,
(b) The sum of the first 5 terms,
(c) The sum to infinity.
2018 INTERNAL

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do

Mathematics//0968555444/0953236573.
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2010 Oct/Nov Exams
7. IfP =(62 (i) and Q=(f 2), find;
(i) PQ (i) the value of a and b given that PQ=P - Q
2011 Oct/Nov Exams

8. Given that matrixA=(1, ).

(i) Write an expression in terms of x for the determinant of A.
(ii) Find the value of x, given that the determinant of A is 5.

(iii) Write A1
2012 Oct/Nov Exams
9. GiventhatA=(_? % )andB=(}), find the
(i) Determinant of A (ii) A~ (iii) value of AB
2013 Oct/Nov Exams

-1 -1
10.Given that A=(2 2 -1), P =< 4 )and Q= ( ih@;.u\k

(i) 2P (ii) determinant of %?.

(@,m)c;g% @fn

11?@6%& Ae(1 0) find;

(i)A~? (||) A B (iii) AB

2015 Oct/Nov Exams

12.Given that matrix Q =(,* 2).

(i) Write an expression in terms of a, for the determinant of Q.
(ii) Find the value of a, given that the determinant of Q is 2.
(i) Write Q71

2016 Oct/NOV Exams

13.Given that Q=5 77), find

(i) the value of x, given that the determinant of Q is 2

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.
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120

7.6km 13.2km

P R
(a) Calculate
(i) The distance PR
(ii) The area of triangle PQR
(b) Find the shortest distance from Q to PR. \4

(c) A fisherman takes 30 minutes to move from R to aeJIQQs average

speed in km/h. 0" a\
w Nov 567
‘Q’A@ zt In such a way that the Administration
bIQ(ir Q@* a

dormitories sses (C) are connected by straight corridors. A
is 60m from C and 130m from B. The bearing of B from A is 110° and the
bearing of A from Cis 030° as shown in the diagram below.

N

N A |.110°
60
309 130m

C B
(i) Find angle BAC
(ii) Calculate the distance BC

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.
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(b) Solve the equation tand = 0.7 for 0° < 6 < 180°.

2017 GCE Exams

11. (a) In the triangle PQR below, QR = 36.5m, angle PQR =36° and angle
QPR=46°.

460

e
36.5m "es‘a.
Calculate .‘( Om NO O“ 6’(

1 aoan [\EW e
ﬁ) E}r,ea of triar%)eai

(iii) the shortest distance from R to PQ.

2017 Oct/Nov Exams

12. (a) The diagram below shows the location of houses for a village Headman
(H), his secretary (S) and a trustee (T). H is 1.3km from S. T is 1.9km from H and
angle THS = 130°.

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.




=3[(y +2)(y — 2)]

13. (a) 5x—8—-3(x+ 1) =-
5x-8—-3x-3=-7

5x-3x-8-3=-7

2x—11=-7
2x=-7+11
2x _4
2 2
X=2

(d)ot—4 <.1é‘|\1pﬁ

% Xte\!t <-10+ 42 age

-3t -6
—_— < —
-3 -3
t>2

14.(a) 5px — 5py + 3gx — 3qy

=5p(x—y) +3q(x —y)

=(5p +3q)(x-y)

(o™ NOt

2y%-3y-5
(b)u
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ax—3a
(x—1)(x—2)

2014

(b) 5(2y —3) - 2(5 - 2y)
=10y —15-10 + 4y
=10y + 4y —25

=14y - 25

esA®
57 0t ©

2015

y?-1

2y?+2y-5y-5
y:-1
2y(y+1)—5(y+1)
y2_ 12

© 5 7

2y -1 3y-1

5(3y—-1)—-6(2y—1)

2y-1)(3y=1)

15y—-5-12y+6
(2y-1)(3y-1)

15y—-12y—-5+6
2y-DBy-1)

3y+1

(2\3')\1&33'—1)

’l(e) 2xy + 8x—3y-12
2x(y +4)—3(y + 4)

=(2x-3)(y +4)

prod=-10 sum=-3 factors=-5,2

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do

Mathematics//0968555444/0953236573.
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2018GCE

Maths Chemistry

Physics

14.(i)
(ii)Physics ony = 6 students (b) two subjects only=2 +5=7
(c)Maths and Physics not Chemistry = 2 O u\k

2018 Oct/Nov \e C

15.()4 +x +3 +7=22 WW f@@& ftransport 7+ 14 +7=28

Xx+14=22 o diff e6 ode of transport

X‘:éz\,‘{é\N‘ O ﬁf}z
'SEQUENCE AND SERIES

2016 INTERNAL

1. (a) To find the common ratio, we use 2 = 22
T1 T;
X=3 )\ x-1 (€) S =
x+1 xX—3
8
(x=3)(x=3)=(x+1)(x-1) Sm=1_(3_l
2
8
X2 —3x—-3x+9=x"—-x+x—-1 See = —5
147

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.
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Gradient of the normal= T

dx

_ 1 . LAy _
== (b)Atthestatlonarypomt,dx 0
Y= y1=m(x—xy) 3x*-3x=0
y—2=—%( ~2) 3x(x—1) =0
y—2=—%x +§ 3x=0o0rx—1=0
y=—lx+l+E x=0o0r x=1
6 3 1
y == when x =0,y = (0)’ - 2 (0)?
y _ —x+14 B
1 6 y=0
6y = -x + 14 whenx=1,y=(1)3-%(1)2

. “ O
eV S age SMATRICES

2002
LiMN=(2 5, 7S iNm=C2, )G 3)
=(2x3+5><—1 2X—=5+5X%2 — 3X24£5%X1  3X5+5X%3
1X3+3X—1 1X—5+3x%2 —1X2+2X1 —1X5+2X3
MN=(; %) NM=(y %)
2003
2. (B-2a=(2 )-2(% 2) (ii)BA™2
=(; D-(C, 2 deterA=(2x —3)-(-5x 1)
(o ol =6+
-2~ ¢)

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.




Page 53 of 67

Therefore,BA™! = (2 3)( 3 _2)

(6X3+2>< 5 6X1+2X-2
4X3+0X—5 4X1+0x—-2

_(8 2
‘(12 4)
2005
H 2 1 x 1 X
2. (i)A” = -1 2)(—1 2)
_(1X1+xXx—1  1xx4xx2
T\—1x142%x-1 —1xx+2%2 \4
_(1—x x+2x) u
“\-1-2 -x+4

1-x 3x c.
=(Ls Zeia ﬁO‘esa\

(oM U of 6!
2t W ;@96 83"

=-X +4 +x% - 4x +9x

9 -4 =-x—4x + 9x +x2 prod=-5 sum=4 factors=-1,5
5=4x + x?
x? +4x—-5=0

x? -x+5x=5=0
X(x=1)+5(x—1) =
(x+5)(x—-1)=
X+5=00rx-1=0
X=-5o0orx=1

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.




Page 56 of 67

i) as=(2 *)®)

[ 2X2+3X3
“\—1x2+5x%3
=(13
13
2013
-1 -1
10.0)2P=2[ 4 2 (i) deter (1=(2 _1)
4 1
2 0
-2 =2
2P=< 8 4 ) deterQ=(2x 1) — (4 X —1)
4 0
Deter Q=2+4

DeterQ =6

1 -1
(iii) AP=(2 2 —1)(4 2)
2 0

=2x—-1+2x4+4+2x—-1 2x-— 1+2x§-\®<,
eS
=(—244-2 -2+4 &NO‘—

=(4 2). G\Nﬁ 56

co V¥

preV™ oaol
2014
S e AT
peerAc(; o (5 9-G %)
Deter A =(5 X 0) — (1 X 2) =(135_+01 8 I (1))
Deter A=0-2 =(136 g)
Deter A=-2
A_l__%(—o1 _42)

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.
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15.(i) deter M =(3x x) — (5 X —2) (i) M1 =1 (g _42)
22 =3x— (-10) mi=2(% %
22=3x + 10
22-10 = 3x
12 _ s
3 3
Xx=4
2018 GCE
16.(i) deter A =(2x X x) — (2 x 3) (i) A1
12=2x2 -6 A=(2§3 g)
— 92 (6 2
124+ 6=2x -(3 3)
18 E -1 _ i 3
2 2 A4 =5 ) -@Q
x%=9 es‘a,\e *
VB Nov

17.(i) deter A=(4x 2) — (1 X —=5)
Deter A =8 —(-5)
DeterA=8+5
Deter A=13

(ii) B~ . g1 =i( 5 —9)

DeterB=(8xX5) — (3 X y)
13=40-3y

3y=40-13

3y _ 27

3 3

y=9

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.
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(b) Shortest distance (c) h? =m? + n?
A =bh (80)2 = m? + (37.52)2
A= % X 163.35 X h 6400 = m? + 1407.7504

3064.18 _ 81.675h m? = 6400 — 1407.7504
81.675 81.675

h =37.51674319 Vm? =+/4992.2496
S.D = 37.52km m = 70.65585326
HN =70.65km
2010

o V¥

4, (a) (i) (PR)? = p% + 12 - 2pr cos O \e ‘C

(PR)? = (13.2)2 + (7.6)? —“( (&%@izoo

PR)? =174. moo.e co 067
P w(@é@s\'ﬁggge 65

J(PR)? = /33232

PR =18.22964618

PR = 18.2km
(ii) A= %pr sin 6 (b) Shortest distance

A=2x13.2%7.6x sin120° .0 =224

2 base
Az 86.87966851 SD= 2x43.4

3 18.2

A =43.43983425 S.D=4.769230769
A = 43.4km?> S.D = 4.8km

Compiled and solved by Sikaonga Moses/The only way to learn Mathematics is to do
Mathematics//0968555444/0953236573.




